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P g SR
2 W B #E7E Boal R
By 3% A FI054£02 7 14 H eI Dt e/ 70 kv (Biir)
fh 4 JE Hh 0 = I T E=E e T fE g2y ]
X R & JE 10. 00| AHxf 60 600 972 722 216
[ B | 1000 fxt| 240 2,400| 1,080  o14] 756
NS £ % 10. 00 | #856f 127 1,270 1,296 997 734
HOR w5 5. 00| FHxf 21 105 2,808| 2,757 2,160
ERSEaNe) o JE 12. 00 [ #A % 172 2,064 1,080 953 540
O NAE (r— 4. 00| AR} 43 172] 2,052 1,998 1,944
H & 5 HL 3. 00| FHxf 299 897 1,998| 1,122 238
B A [ 1. 00| FHxf 195 195 1,080 845 432
= | .00 4% 9 95| 3,780 2,785 2 160
A R 2. 00| H%F 116 232 1,296| 1,210 864
[ I\ w5 5. 00| FH%f 567 2,835 1,944| 1,697 1,242
~7 b~ | F ) 3. 00 [ FHx} 36 108 1,728 1,626| 1,188
IR Ak L 2. 00| FHxf 4 8| 3,780| 3,726| 3,672
H 7% (= 5. 00 | FH%t 80 400 1,620 1,566 1,404
SEE VR 10. 00| AH % 90 900 2, 300
B OF = 10. 00| AHxf 167 1,670 2,484| 2,102| 1,620
* % b 20. 00 | AH%t 510 10, 200 2,376
o | 10000\ fxk| 254 2,540| 2,700| 1,877 1,620
L XA o 10. 00 | #85f 669 6,690 3,240 2,569| 1,350
P=—lH A & ] 4. 00| FHxf 580 2,320 2,160| 1,830| 1,080
Tayal— (r— 6. 00 | FA%f 364 2,184 2,808 2,309| 1,080
= 1| .00l fixt| 5| o] | 0,808
AEHEE w5 0. 10| #Hxf | 4, 300 430 167 136 65
ZDXH E % 0. 20 | FH %} 1, 140 228 96 70 62
LU &k B 0. 20 | FHxf 450 90 92 83 76




ID:1210 P- 2
P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE A FI054£02 7 14 H EFER S 29 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
38 Fosk L 10. 00 | #H%F 958 9,580 4,860 3,705| 1,763
VA 1 Ak L 10. 00 | ¥H % 200 2,000 2,268| 2,214| 2,160
LEY T AU A | 17.00| AHx%t 25 425 6, 906
5 U H & 10. 00| AH%F 176 1,760 3,024 2,758| 1,944
Yata— a4 10. 00 | #H%f 70 700 4,860 3,672| 2,916
Avava 7 4 U E | 13.00| HH%F 16 208| 3,024| 2,943| 2,808
T AN — = B 0. 27| FA%f 8 3 378 324
bEEBI [ 0. 27 | ¥Hx} 1, 324 359 540 486 270
S E & 0. 25| FHx} 8, 680 2,176 518 426 216
MHD Y £ I 0. 25| ¥H%F 1, 765 442 400 368 270




